INBUFRESEL(AEBINELE)
Small Cylinder(SUS Tube)

TADM2(216~340) Series

v
=
'_
<
=
>
wl
=
o

Common Specification (£ [E] #1 18)

Bore(&1#2)(mm) @16 | @20 | @25 | 232 | @40
Fluid(iF{a) CleanAir(E4%=5

Action(ZER ) Double/Single Acting(J/& 51 )

Proof Press.({RIEMm £ 71) 1.5MPa

Max. Press.(& & A E7) 0.99MPa

Min. Press.(RIRERAER) 0.05MPa

Amb.Temp.(FFER KR E) -5~+60°C

Piston Speed(i&F £ i® ) 50~750mm/s

Cushion(£& %) Rubber(STD)Fif A2 2 #h (#7.4), Air(Option)S £ s (f£5)
*Lubrication(iigi&) No Necessary (RNFHE)

Margin of Stroke Error (mm) ({T2IRE) ot

Pipe Size(@EORRCPT) | M5x0.8 | 18" | 18 | 18 | e

+ Use Tubine Oil 1st-Grade ISOVG32,If Necessory(#n & &85 & F1S#ISOVG32)

How To Order (B! 5 KR /5 %)

* Non STD Stroke Available(5IEAREITIZ AT {#i£$F)
)

16.20.25,32.40 25,50,75,100,125,150,200, Nil(Z=)| None(% I [ 1 Type

250,300 J | s0°Cc Y | Y Type
Bore Stroke Amb.Temp.for Gaiter Accessory
figES 1718 HAERRIPFEABEIRE B4

—

TADM2 L 32 -150 A J Y - M9B S

Specification Code Mounting Cushion *Auto Switch No.of Auto Switch
MK it S B HEMETFR MR K E
TADM2 Series B | Basic Type(# A #!) Nil(z=)| Rubber (i B 48 ) Nil(%) | None (FT#i 4 X) Nil(zs) | 2(1)
Built-in Magnet E | Integrated Clevis Type (&% $UR %) A [Air Cushion(5 ) A49 |Reed Switch(T5 1S HiMEIFX) S 1(™N)
(FROfE R B BLIR) L | Foot Type (B &) M9B |Reed Switch(# 1% ST %) 3 |3

F | FrontFlange(#F il 3% ) MONP | Contactless Switch(F$ & 14 T %)

R | Bracket(J& 3 BUR! § 3% ) C72K |Reed Switch(#& &1 SR X)

Z | Boss Cur(k A #)

*Auto Switch (BEIEFF %) 51 KERRIZS:
Fid 5-1m (hx )
L-3m
Z-5m

Part No. of Mounting(Z 2 M4+ 8 =)

Bore(fI1Z) 216 @20 @25 @32 @40
E TADM2-E016 | TADM2-E020 | TADM2-E025 | TADM2-E032 | TADM2-E040
Accessory L TADM2-L016 | TADM2-L020 | TADM2-L025 | TADM2-L032 | TADM2-L040
o A
(REHIt) F TADM2-FO16 | TADM2-F020 | TADM2-F025 | TADM2-F032 | TADM2-F040
R TADM2-R016 | TADM2-R020 | TADM2-R025 | TADM2-R032 | TADM2-R040
Accessory | TADM2-0161 | TADM2-0201 | TADM2-0251 | TADM2-032l | TADM2-040I
M Y TADM2-016Y | TADM2-020Y | TADM2-025Y | TADM2-032Y | TADM2-040Y

Please contract us on any small problem and details.

1.16 #TEEETE EHAMEURES, HEES AL S,




INBUFRESEL(ASEINELE)
Small Cylinder(SUS Tube)

TADM2(216~340) Series

(%]
=
=
<<
=
=)
L
=
a

Dimensions(mm)($h 2 R <t E(Z X))
Basic Type (E&#)TADM2B

MM JLT?'P MM
N Egg:. ; .T.T;
. . g
O =i g
| B || |
A J
E Fl o c | F
c L+Stroke
N+Stroke
Bore(fIf¥)| A B C @D E F G H | J K L MM N go| P R S T
16 16 5 38 21 22 16 13 8 5 6 M6x1.0 60 | M16x1.5 | 114 6 M5 | 18 10 22
20 20 5 40 27 28 12 16 8 6 7 M8x1.25 | 76 | M22x1.5 | 128 8 1/8" | 24 12 29
25 22 | 5.5 | 44 30 30 14 16 8 6 7 |[M10x1.25| 76 | M22x1.5 | 134 | 10 | 1/8" | 27 17 29
732 22 | 5.5 | 44 35 30 14 16 8 6 8 |[M10x1.25| 76 | M24x2.0 | 134 | 12 [ 1/8" | 30 17 32
40 24 7 46 |44.5| 32 14 16 1 7 9 |[M12x1.25| 76 | M30x2.0 | 136 | 16 | 1/8" | 38 17 41

Dimensions(mm) (¥t fi2 R <+ El(Z X))
Integrated Double Clevis Type (&3 gUZE$)) TADM2E

E oP

an :‘rﬂ Bore(&Lf8) | C E F L P

M s <‘ @16 12116 | 9 | 114 | 6
1 _ B 1 _A

N @20 16 | 21 | 12 | 137 | 8

= I i : ‘ @25 |16 | 21| 12 | 141 8

F @32 16 | 27 | 15 | 147 | 10

L+Stroke @40 20 | 27 | 15 | 149 | 12

Dimensions(mm)(4h 2 R ~t E(Z X))
Axial Foot Type(fjfEHl) TADM2L

4-9D -
I
JLEL" S+Stroke X ﬁl =
L+Stroke
Bore(fIf¥)| A @D| H L S T X Y z
216 32 | 55| 20 | 17 | 86 3 13 6 44
@20 40 | 6.5 | 25 | 147 | 106 3 15 8 54
@25 40 | 6.5 | 25 | 151 | 106 3 15 8 54
@32 45 | 6.5 | 32 | 161 | 126 4 25 8 59
@40 50 | 6.5 | 36 | 163 | 126 4 25 8 64

METTE 117




INBUGRES LA FEINELRE)
Small Cylinder(SUS Tube)

PNEUMATICS

TADM2(216~340) Series

Dimensions(mm)(%h 2 R ~F B(Z X))
Front Flange Type(#tim;A=%!) TADM2F

=&

B G C
B
©16,020,025 @32, @40
Bore(fI12)| B C |@Db| E F | G
@16 26 | 3 |55 40| 52| -
@20 38 | 4 | 65|50 | 64| -
@25 38 | 4 | 65|50 | 64| -
@32 47 | 4 | 65| 58 | 72 | 33
@40 50 | 4 | 65|70 | 84 | 36

Dimensions(mm)(4h 2 R <t El(Z X))
Bracket (R £ BUR$# E) TADM2R

L
N 1k e
el — 1€
] 4-0K 0]
\“ c \}\ . 1T
D F

Bore(fI42) | A B C D E F G H L K
216 16 12 12 23 2 20 16 | 55
@20 22 16 32 | 48 51 67 3 32 21 | 6.5
@25 22 16 32 | 48 51 67 3 32 21 | 6.5
@232 24 16 36 | 52 51 67 4 36 | 27 | 6.5
@40 28 | 20 | 40 | 56 | 55 71 4 40 | 27 | 6.5

1.18 “§TEEITE




INBUGRES LA BN ELRE)
Small Cylinder(SUS Tube)

TADM2(216~340) Series

(%]
=
=
<<
=
=)
L
=
a

Dimensions(mm)(%h B R ~F [E(Z X))

Boss Cut (XM & &) TADM2Z

|| M| o Bore(#142) =
= 4 Lt @16 98
— f 20 16
— @25 120
’ - @32 120
L+Stroke
‘ @40 122

Dimensions(mm)(%h & R <t Bl(Z K))

Accessory(Mf )

M
L]
oH-

w T
a |
o

HH

Pai}_.g‘_.“ c D E F G H M
TAM1-0201 8 30 40 1 15 M8x1.25 8
TAM1-025I 10 40 50 15 20 M10x1.25 10
TAM1-0401 10 45 57 16 23 M10x1.25 14

OA
PA M
e
al |||
a
[a]
Il ‘ [}

Pair.,t_g‘_."' A c D P Q M H PA PB
TAM1-020Y 16 8 30 15 40 8 M8x1.25 21.6 16.8
TAM1-025Y 19 10 40 20 52 10 M10x1.25 25.6 19.8
TAM1-040Y | 254 | 10 45 20 57 14 M12x1.25 32 26.2

$TETTE 119




INBIARIES TR ETE
Small Cylinder/Double Rod

TADM2(316~340) Series

v
=
'_
<
=
>
wl
=
o

Order Example (3T 1 2 f§i)) Double Rod Cylinder (¥ ;& Z #/F &)

- - (D) MountingZz % 75 3% (@ Accessory Hfi 4
TADM2WB32-100Y-M9BS ER R P
@ stroke {T#2 ©® No.of Auto Switch it FF < #i &

~2-p
MM ﬁ MM
K l{[]‘"ﬂ H'HL 7 :g K
A - J uﬁ: A
B E F LF E B+Stroke
T L+Stroke T+Stroke
S+2Stroke
Bore(fIf®)| A B © @D E F K L MM P(PT)| s T
@16 16 22 8 21 16 13 M6x1.0 60 M16x1.5 M5 136 38
@20 20 28 8 27 12 16 M8x1.25 76 M22x1.5 1/8" | 156 40
@25 22 30 8 30 14 16 M10x1.25 76 M22x1.5 1/8" | 164 44
@32 22 30 8 35 14 16 M10x1.25 76 M24x2.0 1/8" | 164 44
@40 24 32 1 44.5 14 16 M12x1.25 76 M30x2.0 1/8" | 168 46
Order Example (T 142 {51) Adjustable Stroke Cylinder (A[{F¥51TH2SEL)

Extension Adjustable Type ({# 1 5% #Y)

(@ Mounting Z % 755 (® No.of Auto Switch #i 14 FF X &
TADM2B32-100BY-M9BS -XC8 %zmeﬁfi e
10l @ ® troke {T#2 Stroke Adjust T2 8T
(@ Accessory [+ B: Stroke adjusting range 0~50mm
® Auto Switch M FF % 1742 7138 15 35 B 0~50mm

MM P T$ MM
L3 1 @V - - — g” @
: | ‘ . |
B E F | F E Stroke GHAT{TE
T L+Stroke
S+2Stroke + 1712
Bore(fI12)| A B c D E F G H K L MM P(PT)| S T
216 16 22 8 21 16 13 16 15 M6x1.0 60 M16x1.5 M5 135 38
@20 20 28 8 27 12 16 19 15 M8x1.25 76 M22x1.5 1/8" | 153 40
@25 22 30 8 30 14 16 21 20 M10x1.25 76 M22x1.5 1/8" | 161 44
@32 22 30 8 35 14 16 21 20 M10x1.25 76 M24x2.0 1/8" | 161 44
@40 24 32 11 435 | 14 16 21 25 M12x1.25 76 M30x2.0 1/8" | 164 46

1.20 pTECITE




INBUFRE S EL/ER 5 38 28 & [E]
Small Cylinder/ Single Acting Spring Return

TADM2-S(216~340) Series

(%]
=
=
<<
=
=)
L
=
a

Order Example (3T 12 51) Single Acting Spring Return(S) (23138 & £ [E])

@ Mounting Z %75 = (®) Accessory HfiffE
TADM2B32-50SY-M9BS @ Bore i1 & ® Auto Switch Rt FF
2@ ©® @6 ® @ @ stroke T2 (@ No.of Auto Switch B FF £ 3 &

@ Action F{ER X

Dimensions(mm)(9M 2 R <+

TADM2B--S
MM P |H MM
K ‘Hﬁ o N W
’T) — _ o
\ 8
nEA U i ‘
A
S E F G G F
T C L+Stroke
N+Stroke
TADM2E--S
H MM
MM P 20
“ o JHEE han == //A\
\ - _ _ M o +
AISCAE
e I | [ I %
A
E F G G Q JS,
C L+Stroke R
N1+Stroke
TADM2Z--S Y
MM P
K ‘g:"“('u“ L
’T) _ _ _ a
Q|
S g
A
S E F G G
T C L+Stroke
N2+Stroke
L N
Bore ' A | B | c|ed|E|F |G| H]| ]| K
(HI12) 0~50 [51~100| =101 | 0~50 [51~100| =101
@16 | 16 | 4 | 38 | 21 | 22 | 16 | 13 | 8 5 | 12 | M6x1.0 85 110 - 123 | 148 -
@20 | 20 | 5 | 40 | 27 | 28 | 12 | 16 | 8 6 | 16 | M8x1.25 | 101 | 126 151 141 | 166 | 191
@25 | 22 | 55| 44 | 30 | 30 | 14 | 16 | 8 6 | 16 | M10x1.25| 101 | 126 151 145 | 170 | 195
@32 | 22 | 55| 44 | 35 | 30 | 14 | 16 | 8 6 | 16 |M10x1.25| 101 | 126 151 145 | 170 | 195
@40 | 24 | 7 | 46 |445| 32 | 14 | 16 | 11 | 7 | 20 [M12x1.25| 101 | 126 151 147 | 172 | 197
Bore N1
p go| P | Q| R | S T MM
) | 0~50 |51~100|=101
216 139 | 164 - 6 | M5 | 9 | 16 | 10 | 22 |M16x1.5

@20 162 187 | 212 8 |[1/8"| 12 21 12 29 | M22x1.5
@25 166 191 | 216 | 8 | 1/8" | 12 21 17 29 | M22x1.5
@32 172 197 | 222 | 10 | 1/8" | 15 27 17 32 | M24x2.0
@40 174 199 | 224 | 12 | 1/8" | 15 27 17 41 | M30x2.0

HTETTE 121




INBUFRES EL/EE TR B E
Small Cylinder/ Single Acting Spring Extended

TADM2-T(916~340) Series

v
=
'_
<
=
>
wl
=
o

rder Example (T It 2 {5 Single Acting Spring Extended(T) (BN EEH)

(D Magnet 75 ¢ i ¥ (© Accessory it
TCDM2B32-50TY-M9BS @Mounting it %53 @ Auto Switch BEFF %
[©) 206 @ 606 ) @ Bore 12 No.of Auto Switch i 14 FF < 2 &
@) stroke T#2
® Action F{ER R

Spring Extended Type GE#Z[E )

TADM2B--T "
P
MM F MM
K 3 1 {Ij =Z=
D L‘ - i S - g
B |
A
S E+Stroke F G G F
T C+Stroke L+Stroke
N+2Stroke
TADM2E--T H MM
MM P g0
K N\ 1T F .4
Ko ik M = f \
) — _ ] { o) ‘ l
| s \ | )
T‘ B U I I LA
: L
E+Stroke F G G Q
C+Stroke L+Stroke R
N1+2Stroke
TADM2Z--T u
P
MM
3 ﬁ e i
) — _ _ _ i | o
[ Q
e e _
A
S E+Stroke F G G
T C+Stroke L+Stroke
N2+2Stroke
L N
Bore | Al B |c|D|E|F|la|H |1 |y K MM
(EL1&) 0~25 | 26~50 | 51~75 |76~100 0~25 | 26~50

216 16 4 38 21 22 16 13
@20 20 5 40 | 27 | 28 12 16
@25 22 | 5.5 | 44 | 30 | 30 14 16

12 M6x1.0 75 85 100 110 | M16x1.5 | 129 139
16 M8x1.25 91 101 116 126 | M22x1.5 | 143 153
16 | M10x1.25 91 101 116 126 | M22x1.5 | 149 159
32 22 5.5 44 35 30 14 16 16 | M10x1.25 91 101 121 121 | M24x2.0 | 149 159
40 24 7 46 |44.5| 32 14 16 1 20 | M12x1.25 91 101 121 131 | M30x2.0 | 151 161
Bore N N1 N2
(EI12) 51~75|76~100| 0~25 | 26~50 | 51~75|76~100| 0~25 |26~50 |51~75 |76~100 ©
216 154 164 129 139 154 164 113 123 138 148 6 M5 9 16 10 22
@20 168 178 152 162 177 187 131 141 156 166 8 1/8" | 12 21 12 29
225 174 184 156 166 181 191 135 145 160 170 8 1/8" | 12 21 17 29
732 179 179 162 172 192 192 135 145 165 165 10 | 1/8" | 15 27 17 32
a40 181 191 164 174 294 204 137 147 167 177 12 | 1/8" | 15 27 17 41

@ | © | © | ©

N[fo|o|o|o

P Q R S T

1.22 pTECITE




mres BEETESIITERNEZA
Direct Mounting Cylinder/Built-in Magnet

TADM2R(220~340) Series

(%]
=
=
<<
=
=)
L
=
a

Common Specification (£ [E] # #%)

Bore(#17&)(mm) @20 | @25 | @32 | @40
Fluid(GR{&) CleanAir(E4 55
Action(FH1ERR) Double/Single Acting (/& 5)
Proof Press.({RiEfit & 1) 1.5Mpa
Max Press.(&=ERES) 0.99Mpa
Min Press.(&{&EREH) 0.05Mpa
_ Amb.Temp. (FREFLRIANEEE) -5~+60°C(R K £)

4 Cushion(£& ) Rubber(STD stk R4 (ki ) Air(Option S 2 4 (fEit)
Stroke Tolerance(fTi2 /A 2=) *10-4
Piston Speed(;EZEIRE) 50~750mm/s

Features(4%1E)

Space saving design.

* Built-in magnet(STD).

¢« Non lube type.

« Compactand light weight.

s WAH=ME

o NEHINGRE)

o REFNELE, LHmER ERAFGK
- BHMREEER

How To Order (B! S &K R /5 3%)

TADM2R B 32 -150 - M9B S
l—I [ I [ I_, I—I

Specification Code Mounting Bore *Auto Switch No.of Auto Switch
MIEREG ZEER S HEMEFF X HEMEFF X B
B [ Bottom Mounting (3% % %) 20253240 Nil(z5) | None (FT#iMFF %) Nil(z5) | 2(1N)
TADM2R series F | Front Mounting (]l 2 %) T A49 | Reed Switch(5 515 S i T %) S |1
Stroke M9B | Reed Switch(¥H53ESHiMETF %) 3 [3(1)
T2 MONP | Contactless Switch(Jci &S Bl T )
C72K | Reed Switch(5 5% S HiMEFF %)
Please refer to the table. - —
EEETEE *Auto Switch (M FFX) 51 KERTIES
FTie S-1m (#54)
L -3m
Z-5m

Standard Stroke (#5/1T#2)

Bore(£112) Stroke (FRE1TTE)
20 25,50,75,100,125,150
@25 25,50,75,100,125,150,200
32 25,50,75,125,150,200
40 25,50,75,100,125,150,200,250,300

Please contractus on anysmall problem and details.

EIEME M REE, HEESAATRE. #TEEETE 1.23




BERESIIITERNEZIA
Direct Mounting Cylinder/Built-in Magnet

TADM2R(220~340) Series

PNEUMATICS

Dimensions(mm)(4h 2 R ~t E(Z X))

Bottom Mounting (i % %) TADM2RB K

2-PT1/8" J
T_’

3 G F
E L+Stroke
N+Stroke
2-PiEFL
/2-RiLFL

MM

—+
T

C

]

|
[ CH TL,‘V‘U
4.@@11*0
|
|
T

Bore(fI%2) | A B |@C | D E F G H I J K L MM N |@O0 | P | @Q R S T
@20 | 20| 5 8 5 | 31|16 | 29 [30.3| 12 | 8 | 22 | 89 | M8x1.25 | 120 | 27 |@5.5| 20 | @9.5%6.5| 21 |33.5
@25 | 22| 6 |10 |55 (33 |16 | 29 [36.3| 12 | 8 | 22 | 89 | M10x1.25 | 122 | 30 |@6.6| 26 | @B11R7.5 | 25 | 39
@32 | 22| 6 | 12 |55 |33 |16 | 29 (423 12 | 8 | 22 | 89 | M10x1.25 | 122 | 35 | @9 | 26 | @14F10 | 30 | 47
@40 | 24 | 8 |16 | 7 | 35| 16 [37.5|52.3| 15 | 8 | 27 |97.6| M14x1.5 | 133 [44.5| @11 | 32 |@17.5F125| 38 |58.5

Dimensions(mm) (52 R ~F Bl(Z K))

Front Mounting(#F ] & %) TADM2RF

2-PT1/8 J

2Q
|
Q\
|
|
|
i,
~
N
@0

E L+Stroke
N+Stroke

Bore(HI) | A B |[@C | D E F G H J K L MM N | @0 B 2Q | S T
@20 20 5 8 5 31 | 16 | 29 [30.3| 8 22 | 89 M8x1.25 | 120 | 27 | M5x0.85R9 | 20 | 22 |30.5
@225 22 6 10 [ 55| 33 | 16 | 29 |36.3| 8 22 | 89 | M10x1.25 [ 122 | 30 | M6x1.03%11 | 26 | 26 |36.5
@32 22 6 12 | 55| 33 | 16 | 29 |42.3| 8 22 | 89 | M10x1.25 | 122 | 35 | M6x1.03®%11 | 26 | 30 |42.5
@40 24 8 16 7 35 | 16 |37.5(52.3| 8 27 |97.6| M14x1.5 | 133 |44.5|M8x1.25}%14 | 32 | 36 |52.5

1.24 ’é‘TEmTE




	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9

